Vg W) Ao ‘ ®
Nou .
\ e
v
T(‘@J&_ Q 333-
U= B HW e ) " *MW‘“"J
_ \c?kL &Vscr“\‘r*(’\)‘/“’“‘ ) “J-HW oy
‘b JaNEY 4 m
ol 7\‘5\'9 wb Nov

Nsp <Yay, / *"”’
VAL
(352




i ‘H--- \f | )
@) o NMOS With paCep =20 K7 5= Zlimllee 3

@) \§ L =0 Qpw W =16 pwa ?“’\cb Ve />\

% ~ N O N Nov = (o - | \&,\';Y\ |

( )g'v\é— To ongdw Vov=10.5Y , NS . Them GulGoede Yo

()% \VDS‘\V\QM\O‘N WY e CVW"B: NN W |
Whal Ly & Us = 3V

(&) Vp= Vgwl = Se ﬁ—w\%dgr«“ — OovV &S

— 0-02095 U:\ &) v

L\
N= T g T R
:*(L - A\ W ?'__‘ L uo‘“‘_\& \& Mwa -lQO—Sﬂ\f?@
D= QI"W\Qa* T Voy = Lfcl V‘L*d-gﬂ“\*d g =
Y S )
0= Fp = S5~h — go¥ ™ |
T & ANlo T ©-01S ¥0-Swma S o \
CR .
e oge oY = 2 = 6-025™ |
Yo Jo eV
SN = [LD o1 |
\! AP o
Vs =142V Vs =) w \bs‘v\.;jzu |
— 0-9A 6. 61SWA = . 519WMA |
wher Job =\ wm"&ﬂw%ﬁé:ﬂ%ﬁ&&?? |
S = 6o MA W _\q |
(&) P> Nap=Y o FPT PONT ) L T -
@ % A Ves ok whic WT@V\%\QE\;QY\ AC Vo _\
& Vos / fod “W"G‘L?N Syt TedeC9
e N &c‘:\'\\ﬂ'&m
with

@)N@aw, 0 und \Ver) VG
< —a 002V o _ #
|9 ¢ i 7 sse Vov NS 4\0"5‘

\ = -0 g
(@) ‘%} y X {\f(): oV

N = 3V & e £ G KQOW‘

(W) Lol e
1/\@

_

v2Sz2.




ats Gaduet  Vse 71V

o 7 ; VS_V()‘ ?/ \—\\
”DJ/‘Q\“’\% Vo 7
V6 & Qv
1 VGS = NG-Vs = SA -5 SN &
O S spedeo in Taede Ceen T
VO~ 7 \Vep)
VOo-Vo 7\
v 7 Vi) @'/
(© ﬂnr @ ped e S \W “garwation ¢ {\d@\m
Ns 6 S \Vep)

Vo -V N
Jo S Vo \

T — A vea W =
Lo = 5 Fp T Wenr

s MA = —\3:* 60 M, \o -WVoy)
Vo
- \\’o\/\ — 6-9 ®/

(@) ™ S

vV 7\/0\/
- - Vx b~
s\ Yoy = Ns€ ! \p\ vs—VNo, 5
-~ V¢(G& -
-9 = _Ngo 7 ©-5
a5 — Vs—Ve-\ 5—e7°
6-5 = S —Ve=) Vo < 4-sv )

— - Vo_:B-SV ®/

&

e wmes N 5 _
(b D Lo Ny A AL N Sy

Up= 1 —
PR = g =Y
o = % — S _ o gesMwn_
\ JSpA
\\Q.) Vov=0-95  In=o0-02Vv" ,NGE=3.-5V
(eauredt  Xp=7 o\ Vg=3V¥
=7 a Yo=-svVv

) ?c\" Vol = 0-"3\{
SJU/JZ_)_‘}\'J_)J:L, SRR I T O
&Y edge AL Vsp=Vew =Y
NS
Vo= 45V _3/ls
L=z S







SOBNIe ‘Cm;\‘ v\(ng \m
O = A )\M\ cak . (VUS“\/J(\'\)
)
O‘C\-‘f‘-\t} :Eﬁ\oo*\c* 3'7— (\/N 9)
)

(\f(,—g_.c%)-—— Y o-S

L

A 2N
NG5 <o 2 =>vefuse ((bacnde VG Sorae)
\“Tt_"-\\‘”&t Vos = 22
NG -Vs =\
& — Vs =\ :—\6 =—\-2V
Rs — \[._5___&:1-—-5) __'_E__-L__———m py 3-/)—Stk/\
T o - s -d
\\Q_c\(..
Vos=Vo “'S-— a-§H12=V > Vo9 = Jo—Vo=0—0-£==0-D

D =0-5 Ve— a9

Ves-Vy = 1=e
so NS > Vog ~VT Swa XD c NT
St sk SaY e¥-L—
s GAvenm Va=oS V| Mnby=0 PEB
Np=02V g,oazwh N
L~ o0-18 M ZQ:\\

o P R ]
e b e Gweded s Ngdso 2

swe G b she Cew - r]\q
NA- =0 -
=03 S o\ Twme 1

5,: < VY
w
'LD - ‘M\ Cor — (VO‘S‘\{*') E NGs = Vog Vo Vg

(Lg _,.;tht,oi\*\os*oiﬁVO‘S—OS) :f__“&;o
U wlo w332 (o-’-}.—uJ) = o.DY
Lo :_\54&0(-\% a+6_\$
32 M

Sodp  15-%9 - 36335k

Ao 32_‘)&'10 /&\?;
g |
$2-

RS




ol \dornGal

Ven=0-S Sq
PrQ Ro. T Ve
Q-+ 0\):/&'\6 C’é‘ e‘—“\ Ve ,) v
S IENE ST PN VSN L o 42

\bsio | | @, Q, % )3 o

\/ V4
o Qo SnC VoG =0 = EQT b VOO
-_— \{_D%\ — \fQE\(S\: D_q_(): (Oq-\f

o I\

Nz Ne\=Vo\ = 3 ~a= 083

NGsn = N ML= ©

Q2 SA‘ .
s EMQ(& W (o3,

Ty~ + Pwlen 7
Y= o L
- W\A 6-¥ —08)

Loq = & *eh Tﬁ*é\ C

— A2 MA

§ N
&W: Vo s T,

V1 = \PCrsL--\{"(?r\

NoQq — —
Npp— 6= °3 -0

\f&’L = -1V
QNgy BT N e~

= Ra-= = 32 mh T

-

)




@ G“\‘ﬁe“f\ k’r\--\\f

t« - \W\N
D—Q_S\ “\\o \(\"\ft_ \J\Q"‘b AV
\5\(\:\* ) “\'\(\Q e&ﬁ{\\\\l‘e rég

\\KY‘B \[G“ \[S S—6~S WV
Vou=vos-vy = 51=4 v ( ==
~ V93— Vo-Ng= 0.\~ =0- \®

Swee  Vag < Vog-\Nr
"Xy ox‘%@&@ W TYisde

F_\_:D‘:_ \C?\-\ﬁd\—_ R\fnw VOS—\[O\SF)
‘;\M K_L\.‘Y«%\ — %3:0'3‘\5“«1\

Po — S—SQ‘ _ S-o-\ 124X K~ B
— oo — 0-3\qwf)

Nos o-\V" . 953.\6 UL
Ws= =% TEsw

\/00\\}

A5 = TS W (ums—A) 1A (5A)
— QSQ\/\
Sa W w N«”\\j o QD\W"L:
0 GRS A Vo
=" e o |
NOUNRVZR e Ry \o ™ ?6\@\
\f+:\V‘
xE = v 1,
/\{\ = O @I%iow i{\f\,\




e TV venun

\R\\\ \o *\% — SV SNMA < ohw
\D-+ W— 5
“\&{\\GOS_ ﬁﬁw-?j
S = 05 ‘\-EOQ{) 15“’/_\\4 3‘%)?6?‘\’\
S = Nog A € Ty 0 L
SInuane S B -
T = é\r \:J(\NC (UO\S‘V})
T = 4 ()T —~D
S\ \"'\j ® W @
soes L (Wos-\)°
T et W )
g —NOS = 3 (\fm -
Vit < 5% 5= (4r3+Y = S esdy
A, To= S il
< NOg=ny & % N
o s =Y 0
5= NS sx6="1v (&)
~- _ -6 —
—- — \\V
Cos =Y
cMecle Vpg VoM 33247 ®
Jos 7 VOS\“\[T
S so‘ﬁw‘\v\&%/
TR gp Ve oS
VA = J
= SoC\' /\?)
gl 2































